Math Extension Answers

Extension Answers —

Look for your level, question number and letter to mark your work. For example, if
you answered the Green extension on Monday, the answer is Green 1.

Green
la. 30%

la. Year 5 have 20 glue sticks, Year 3
have 40 glue sticks. There are 40 glue
sticks left which is 40%.

2a. 48%, 47%, 45%, 407, 4%

3a. Alice iz comrect == 5%. Johnny is

100
incorrect, 0.05 = 5% not 50%

da. A =407, B =637, C=T70%

da. Lucy has 60 sweets, Alice has 100
sweets. There are 40 sweets left which iz
20%.

5a. 10%, 11%, 15%, 50%, 58%

éa. Gabriel iz correct, %= 70%. Stephis
incorrect, 0.07 = 7% not 70%

Purple

Ja. A -25%, B - 48%, C - 40%

7a. Bill's sells 10 bars. Jack's sells 25 bars.
There are 15 bars left which is 30%.

8a. 80%, 75%, 72%, 52%, 32%

9?a. They are both correct. 0.36 = % =
3670,

Tb. 607

1b. Alice has 40 marblez, Cian has 40
marbles. There are 20 marbles left which is
20%.

2b. 5%, 15%, 25%, 50%, 55%

3b. They are both correct. 0.25 = % =
25%.

4b. A - 507, B - 45%, C - 407

db. Clasz 5 have 40 pencils. Clasz 4 have
25 pencils. There are 35 pencils left which
is 35%%.

Sb. 75%, 74%, 72%, 70%, 25%

éb. Hannah is correct, 0.5 = 50%. Seanis

\ 50 _
incorrect, 200 257 not 50%%.

7b. A - 35%, B-T70%, C - 40%

7b. S5ean and Ben both have 50 sweets
each. Steph has 60 sweets. There are 70
sweets left which iz 34%.

8b. B0, 88%, Y07, 2%, 967

9b. Ben is correct 20 . 80%%. Luey is

T 25
incorrect, 0.8 = 80% not 87,




